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Question Number : 1 Question Id : 7196501121 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Given that for any n eIV there exist on odd integer ¢ and a non- negative integer » such
@ - ?-
that. » can be written uniquelyas n = g x 2 .

q+1

Letf: N — N xIN be function defined by f (n)z{ r+1, ] Then,

d—

D nelN &, n D Do 1 = ¢ x 2 1 CPADHONDLED 2.8 O QPS¢ SO0
EOFHBS YPOPasesd r S350%0 @ FIY.

Vad0We ff N> NxN f(n ):( r+1. q:1 ] P A0IITCe Y Yo
\ =
Options :
f 1s one-one but not onto
J 9338350, 5°Q Dofindn $°¢0
| %

f 1s onto but not one -one

J 00fiRain, 570 ©3g¥80 760

2 B
f 1s a byjection
S &goes 2300550
3.4
only 77'(1,1) does not exist because / is not a bijection
S &g HIO0SD 59630 &8 17 (1,1) B3890 578
4% :

Question Number : 2 Question Id : 7196501122 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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If f: R — R be defined by f(x)=x+2 |x+l‘ + 2 |.r—l|. then the element in the

codomain, which has unique pre image in the domain 1s

R—2R flx)=x+2 ‘r+l| + 2 |x~1|,n° QSR , VR DBFSNS' b§§ PSR
é@@o&)o OO 0° Qﬁbé’é)}@ VRPN S

Options :
3
1.«
.. 1
7 B
b
3, ®
5
4 %

Question Number : 3 Question Id : 7196501123 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Iff(1)=3.and f(n+l)—f(n) = 3(4”—1)ﬁthe11‘dnEN.f(rr)=

f(1)=3 5000 f(n+1)-f(n) = 3(4"-1),V n €1, oond, ey £ (1) =

Options :

4 —1
1 ®

4" —=5n+4
2. %

4"—3n+2
3. ¢

4"+ 4n -5
4 R

Question Number : 4 Question Id : 7196501124 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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For a square matrix B of order 3. if B = B™ and‘ B‘ —1. then | B— [‘ -

¥ BDOSTE G SRE B §, B’ = B~ 0050 |B|=1 wond, ey [B—1|=

Options :
1, % 1
| =
2.8
2|8
3. %
I
5|1
4.¢

Question Number : 5 Question Id : 7196501125 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

For a¢.f € [0,2;1'] and y E[O.;r) consider the system of equations

a.p € [0*2:-1'] 20005 ¥ E[O.;r) 0 e O DEGE B5a5:0:% S8 ok

2sina—cos f+3tany=3
4sma+2cos f—2tan y=2

6smma—3cos f+tan y=9 .

then, which one of the following 1s TRUE?
O 88 $ob TS’ 0B DhgS0?
Options :

20— p—y=0

L

20+ p+y=0
2.8

~

T
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a—2p-y=0

8

a+2p—-y=0

Question Number : 6 Question Id : 7196501126 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

I 3 AY x+1 |

3

The rank of 4= 2x X —x C+x |is
| 3x(x—1) M —3x1y =xv-1)

1 X x+1
A= 2x X —X Y +x SVIV7 §°¢S
| 3x(x—1) x(x"—3x42) x(x"-D]

Options :
3:forall xeR

3;00) xeR %o

1. %
2:-only for x =1
| 2, x =—183r8D
2 ; for all xexcept Oand—1
2;08 x=0 00k y=-1
3.
3:only for x =0
3; x =0 8§ 3B
4. %

Question Number : 7 Question Id : 7196501127 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
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Correct Marks : 1 Wrong Marks : 0
71, o> are two fixed points on the Argand plane. If = 1s a complex number such that

z—=z,|+|z—2z,| = 4, then the locus of = is

21, 22 €0 &% B0 P Totkd RS RotaPen. |2 —2;|+|z — 2,

2088 YoRg 0D, Y 7 S, DotdDHESD
Options :

o -
< A

a circle when |:l =~

<A SONSE & Sy

‘:1 _:")

a parabola when [:l 5| =4

2, + 2, =4 ©00IRNE w¥ DOPSLO0SD
2. %

an ellipse when |z, —z,| < 4

‘:1 — 5| < A ©00SQYE wE Oyt
3.

a straight line when |:1‘ =12, =4

21| =]z =24 @SRy a¥ H6¢ S
4 ®

Question Number : 8 Question Id : 7196501128 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

If the four pomnts A. B. C. D m the Argand plane represented respectively by the

complex numbers 2 + i. 4 + 3i, 2 + 5i. 3i lie on a cucle, then the centre of the

circle 1s

W% Gl VoS8 VoWgen 2 + i, 4 + 3i, 2 + 5i, 3iOd Jrdedeld TN
2ot A, B, C, D a8 S0 ) &0l 895100 & S8 Soliabnd

Options :
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1. %
3+2i

2, %
- 3+4i

3, ®
2 + 3

4.

Question Number : 9 Question Id : 7196501129 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The roots of the equation (x—1 )J =32( x+l_)j are

(x—1)" =32(x+1)" HDE00 IS, SaPOZ0D

Options :
2k
142e 3
——.k=1,2,3,4,5
1-2e 3
1. ¢
2k
1-2e 3
 — ¢
2;\_;:_?- A—O Inl—-.3 4
1+2e °
2"

1 8
2{k+1)ri
- »-} 5
I+ L€
, k=0,1.2.3.4
AN k+at
, 3-2e 3
4 B

Question Number : 10 Question Id : 7196501130 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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- . ]
If o 1s a non-real cube root of unity and x = ®" —@—3. then the value of

x*+ 6x°+ 10x* =12x —19is

DEo V), TFRIBS D0 P @ HOOW ¥ =0 — -3, WONS, B
X'+ 6x + 10x" =12x 19 Cﬁlﬁ& e DN

Options :
D
1. ¢
_ 7
2.
12
3.8
—=15
4 8

Question Number : 11 Question Id : 7196501131 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

.
The number of integral values of x satisfying 9x—2 <(x+2) <12x-3 is

Ox—2 <(x+2) <12x—3 D B3 HOBD X GV NFTeE DS Dotdg

Options :
not finite
(52410 R0 )
], %
2. 3
3.8 4
5
4, %

Question Number : 12 Question Id : 7196501132 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
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Correct Marks : 1 Wrong Marks : 0

Sum of the moduli1 of the complex roots of the equation { At 1., }— %( X+— } +6=0

Vo,

\ X

1S

[ x? 4o - 5[ o ] +6=0 D0E00 GIE D08 HPOSNL JTFHSNO GV, SIS0

X X
Options :
d
1. %
s
2. %
1
2
3=
2
4.

Question Number : 13 Question Id : 7196501133 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

If 2+y/3is a root of the equation f (.r):x4+ 2x°— 16x°— 22x + 7 = 0, then

which one of the following 1s not aroot of f(x) =0 ?

008080 f (1) =2+ 22— 1637 — 22x + 7 = 0O ¥ SHrosw 2 +/3 ©owd,
O & $oB RS B, £(x) =0 CIEy 28 HPOS D ?

Options :

3—2

1.¢

2-43
2. %8

_3+\/§
1 8

~

T
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3 J5

4 %

Question Number : 14 Question Id : 7196501134 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Assertion (A) : If g, .a,....... a, are the n distinct roots of the equation x" —2= 0,

then 1+(1-a,)(1-a,).....(1-a,,) (1-a,) =0
Reason (R): If ¢.0,........ a, are the n roots of

FX)=psx"+ 2 X"+ p, X"+ + p, =0, then the roots of

F(g(x))=0 are g7 (1, ), i=1,2,3, ..c...m

QBB (A): G, 4y, O X' =2= 0, JDEonS0 G 7 DI
SPLSNOS, ¥ 1+(1-4)(1-a,).....(1-a,, ) (1-a,)=0

>Ggio (R) . () =pex"+ X"+ o 4 4 p, =0 OO0y, 11 SIS0
., .....q, SO YPND f(g(x))=0 B Srosven
g (), 1=1,23, ......n

The correct option among the following 1s

& S0l YOS HOGLID

Options :

(A) 1s true, (R) 1s true and (R) 1s the correct explanation for (A)
(A) OBgalm, (R) Dehgasn 0akw (A) 8 (R) D0 28es

1. ¢
(A) 1s true, (R) 1s true but (R) 1s not the correct explanation for (A)
" (A) g, (R) 0ehge80, 5°Q (A) 8 (R) 0G0 Da8Ses 2
(A) 1s true but (R) 1s false
(A) DBz, 5°Q (R) e90Sga50
3. %
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(A) 1s false but (R) 1s true
(A) @0Bg3w, 5°Q (R) dgadn

Question Number : 15 Question Id : 7196501135 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
ek .= {(:r. v,2) [ x+y+z=11,x>r,y2r, 227, X,¥,2, rareintegers} and

n(S ) represents the number of elements in S, . Then n(S, )+n(S;)+n(S,)=

S = Jl(r 1,2) [ x+y¥z=1], XSr, Yy, 220, X5, 0.2, 1 EQ)”?G?W}‘ 000w n(S,)

@30 §, &' Arosv Doy ®DRTRe. @YY 1(S,)+n(S;)+n(S, )=

Options :
- B
v 2T
,u I8
Lx 234

Question Number : 16 Question Id : 7196501136 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

A certain question paper contains three parts A, B. C with four questions 1n part A, five
questions 1 part B and six questions 1 part C. A student 1s required to answer seven
questions choosing at least two questions from each part. Then the total number of

different ways a student can choose his seven questions for answering, 1s

w8 Q00 D) Do, e A & Treuth D) ees’, artie B & 56k D) a8 00050 &t
C 5" &80 HF) es® 2a3¢d griswen A, B, C 0 590 0. 28 05050 0 8%%o Sols
£3%00 Dot ¥) 05 otiaBoolar® s H¥) OB VeGP TPONSLR &otnod. &8 G50
€550 0GP So TPANSVS 00 D) O 2odE BXVEIHON DS, DESSL 3o Vot

~

T
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Options :

. 1500
o 1200
1900
3 %
2700
4.

Question Number : 17 Question Id : 7196501137 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

: N
p. q are two prime numbers. For n = pg. if the expansion (\/4 =47 ) contains non-

i

zero coefficient of ™ and +°. then the least value of such » 1s

P. g &0 Botld DGPS DoWgen. 11 = pq 8, (V‘ X +2 2/1'—“] AGes x7" SO ¥ AW
ErIgBS (LD SON &oll, WYY BEFL 17 GV IR VLS

Options :

82
LY

41
2 B

123
3 ®

2

4. % 62

Question Number : 18 Question Id : 7196501138 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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. : . 2L : ; ; o :
The binomial expansion (7 + 3x) % is valid for all x m the interval {TE } and 1f

12
the 4™ term of its expansion is kx* . then [75 k}=

B e I -2/
oo (?€ Jef)*' X O3E) ©Q) eSUH BIDS de (7 + 3x) A Seneeen

12
©HBEF HOOL TP e Ay, 4 &S Do kx® OB, Y {75 k] =

Options :
-
- 13
—108
125
2.V
—J2
P
~36
125
4 %

Question Number : 19 Question Id : 7196501139 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Let H(x)=3x"+6x"-2x"+1 and g(x) be a polynomial of degree one. If

H(x) s g(x)
(x—1)(x+1)(x—2) fﬁ)+[x—l)(x+l)(x-2)

then H(-1)+2H(2)-3H(1)=

H(x)=3x"+6x> —2x"+1 H00%0 g(x) &% ¥ HO0uSes 200D WS oT%.

H(x) - iy g(x)
(x—1)(x +1)(x-2) A )+(.1-—1)(.1-+1)(x—2)

H(-1)+2H(2)-3H(1)=

VoD WYY

Options :

gcollegedunias
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f(=1)+21(2)=31(1)

. H(-1)+f(2)+g(3)
| g(-1)+2g(2)-3g(1)
i H(1)+2/(2)-g(1)

Question Number : 20 Question Id : 7196501140 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
The smallest positive value of x (in degrees) for which

tan(x +100°)= tan(x+50° )tan(x)tan(x—50°)is

tan(x +100°)= tan(x+50° )tan(x)tan(x—50") echy x CIu%), 5D STPE DS
(6o

Options :
50
o 1:
0
2l
-
2. % -
75°
3 R
30°
4.9

Question Number : 21 Question Id : 7196501141 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks :
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For n € N, if f(n)= (cosnx)(secx)” and g(n)= (sinnx)(secx)”, then

f(2020)- f(2019)+(tanx) g(2019)=

n €NS, f(n)=(cosnx) (secx)” 0050 g(n)= (sin nx ) (secx )" ©owd, @
7(2020)- /(2019)+(tanx)g(2019)=

Options :

sim X
1. %
sl COS X
). 0
4 = I

Question Number : 22 Question Id : 7196501142 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

0 and o liein Q3 If cos (8 — «). cos B. cos (8 + a) are in harmonic progression. then

o
COs 6 sec ?=

—

6 08akw o w Q3 & &TF) 0w . cos (6 —a). cos 6. cos (B + a) e FPoety S 36 &S Godl,
o ! a
®a) & C€os B sec "
Options :
2
1. %
J2
2.
3
3. %
V3
4 8
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Question Number : 23 Question Id : 7196501143 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
If the possible solutions of the equation 2cos® x+ 3 sin x —3 = 0 constitute two unequal
angles of a triangle, then the third angle of that triangle 1s

DDEGSD  2cos” x+3 sin '1'_3:05‘1”52: A0S PO &8 @mzsm cfm§2r Colid

OIS SEISNOD 5D Roll , )0 & Saes50 Al rdsd S'teo

Options :
~
1. % _
=
2. ¢ 3
=
3.8 6
z
4 % 4

Question Number : 24 Question Id : 7196501144 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

P | \
In AABC if |C = 7 thenTan™| —— |+ Tan™ +Tan™ | — | =
2 b+c c+a a+b )
AABC & [C= = oond ey
Tan'| - |+ Tan™ ' b +Tau‘1( E =
b+c ¢ +a \a +b
Options :
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4
Tan‘[—i'
r )
1 &
{ <ty \
Tan'| 2772 |
_ 4
i \ 3 )
__“-'ﬂ-
r”l‘l
Tau"[-J
. \ 7
Tan_l(rl+rz_+rg ]
4. % ;

Question Number : 25 Question Id : 7196501145 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

: F 11
If sinh (ZTanh l.r) = e then x =

smh (2Tanh'1 x] = % , oS YN x =
Options :
w —H
-
2. % 1
A
3 11
11
4, %

Question Number : 26 Question Id : 7196501146 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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If the sides of a triangle are in the ratio \E ; \E : /8 + \/E . then the largest angle in

that triangle 1s

o Db Glog), 29500 3 145 1 Y815 AR Gold, B0 1 & Babeeed
LU EVARRE AW

Options :
2r
| 3
T
2
2w
T
3, % 3
Sn
4, % 6

Question Number : 27 Question Id : 7196501147 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Ina AABC.ifftanA:tanB:tanC=1:2:3 and

sin A :sinB:sin C= v/5:242 :k, thenk=

AABC @azoS tan A :tanB: tan C=1:2: 3 eo)d,
sinA:smB:sinC= \/512\/3 'k ©®owd, ey k=

Options :

(B

~

T
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Question Number : 28 Question Id : 7196501148 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

. 5
In AABC, ifR =%, rri=42 and ri—r =6.5,thens(s —a) =

65

AABC &R:?ﬁ rr=42 30050 r1—1r =6.5, 000d s(s—a) =
Options :

. a7
], ®

126
2. =

: 105
3.8

168

4.

Question Number : 29 Question Id : 7196501149 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Let ABCD be a parallelogram and E be the midpomt of AB. If P is the point of

intersection of DE and AC. then DE + ‘:ﬁ =

ABCD &8 Dei07o®0 €180 250 «000in AB Gy, <oy eotad) E @5 0w®e. DE

300050 AC G, BocéeS Dotioa) P 000, SN —t o =
PE  PC
Options :
5
1. ¢ .
4
2. 8 3
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b9 | W

>
®

W | 9

Question Number : 30 Question Id : 7196501150 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

A vector @ has components 2p and 1 with respect to a two dumensional rectangular
cartesian system. This system 1s rotated through a certamn angle about the origin in the
counter - clockwise direction. If @ has components p +1 and 1 with respect to the new

system, then

w8 QIDO0STE Lot SPOV0NRD S350 BYePy w8 OO @ AT Wodaden 2p SO0k 1
O ZOH Gold. S8 SgSVH MPLBIENY) NP WSy OIS’ 28 V0D §'eeS” &fedeio
DoBoa. §¢ S50 SyaPs P+ SO0 1 st T 500 ol 0\

Options :
<)
p:lorpz_
1.9 3
- lorp=~
| P P -
2.8
p=lorp=-1
1. %
=0 oro= l
P P 5
4. ®

Question Number : 31 Question Id : 7196501151 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Let A (3;+}—I) and B (13;—4}+9a be two pomts on a lmme L. C and D be the

pomts on L on either side of A at distances of 9 and 6 umits respectively and C lies

between A and B . Then position vectors of C and D are respectively

aS0L P A (3i+,/—k) 00k B (13i—4+9k) €0 Botd Dotrahen. C 50050 D
BotPHOL D A 8 3EOIYO SERHKP 9 500050 6 O EFES0ES Gy 00 SHOAKD
A, B © 306558 C &od. 0 € 000D 008, FeS diFen

Options :

—3i+4j-Tk, 7i— j+3k

], ®

9i—2j+5k, Ti— j +3k
2.8

Bi44 Tk, —F+3]-5k
3.8

9?—2}+5?, —§+3}—5E
4. &

Question Number : 32 Question Id : 7196501152 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Ifa=2u+3v+7w. b=u+v —2w and = —u — 2v —3w then

l:ll A% ‘N:I (.§+S+ "E) _

|abc|

a=2u+3v+7w, b=u+v —2w 00w T=—u — 2v —3w  ©0ond, &Y

[u v w] e
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3(utv+w)

2. 8
Bas wo 5
—(11+v+w]
3 &
s ss u g
—(u-l-‘.-'-i-w}
4. )

Question Number : 33 Question Id : 7196501153 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

V=2i+] — k 0050 W =1+3k 0508 owro. U af0rads 0¥ 9o, e i

UV W | oo, sog oo

Options :
. =k
l. =
T T:
59
3.¢
J60
4 %
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L1 1s a line passing through the points with position vectors B 2} —kand 4i—3k . Lais
a line passing through the points with position vectors i+ 23 —kand 2i— 43 —5k. Then
the distance between L; and L 1s

i—2j—k 5005w 4i-3ken e DO 50 WotioaHO Ko 88 B9 Lt Fedood. Ly

8 i+2j—k SHO050 2i —4j— Sk O PS DEFLP K0 RotioeHe) Koot Fes’od. Q)Y

L1 0050 Lz © S0¢g 50 &rdo

Options :
s 0
3
2.5 4
4
W 3
-
4. % 3

Question Number : 35 Question Id : 7196501155 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
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Correct Marks : 1 Wrong Marks : 0
The mean and standard deviation of 100 observations x;, x,, ...... Xjgg Were

calculated as 40 and 5.1 respectively by a student who took by mustake 50 mstead of
100

. %
40 for one observation. Then the correct value of > x,°
i=1

Xj00 QI0E). 230GIga30a30 23OCIN 5ol INIaSNLN 3G 40

100 DOILSN Xy, Xpy vevenl X
00050 3.1 TP &8 D0 (e WP, B TrOart a8 DOBLDEL 40 § 2ocoenre 50

100
H0%00¢3, YD D x,” CIEy HOGS Ve
i=]

Options :
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Question Number : 36 Question Id : 7196501156 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
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Correct Marks : 1 Wrong Marks : 0

The coefficient of variation of the first 5 prime numbers 1s

J0EES 8N LR VoBL GINEY, NSVTPoESD

Options :

1. 7
406
2. % 7
416
7
1
425
4, % 8

Question Number : 37 Question Id : 7196501157 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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A person tossing a biased comn indefinitely wins the game by getting head for the first

3
time. The probability that he wins the game in odd number of tosses 1s — . If 5 such coins
are tossed at a tume then the probability that head appears on all the coins 1s
w8 aP)ESosd (JS80) TPEQ) WIBYBorP AV T a¥ Sg8 ks VOP 88 Sy
TSN ©ED TP, 2 VoSV NVIIBL DotgeS OB LD AOD

3
SIS E . OB BEFE) THOD WSFO DL WAVE I, B THO P LAY S

Woﬁéé
Options :
. 3125
243
o S
o 1
w243
32
243
4.
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Correct Marks : 1 Wrong Marks : 0
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Let B(a, .,y ) represents that a bag B contains o red balls, p green balls and y blue
balls. Given B, (2. 3. 2), B,(3,2,2). B;(2.2.3). A die 1s rolled. If the die shows up
2 or 3 or 5, then a ball will be drawn at random from bag B, . If the die shows up 4 or 6,
then a ball will be drawn at random from bag B, . If the die shows up 1. then from bag

B; a ball will be drawn at random. Then the probability of drawing a green ball from a

bag thus chosen is

28 Do B, 0 20. P 9333‘?.’3::5‘)_. Y O Gothd 200800 5@ Golela®U) B(&'.ﬁ.}/ ) e5°
araEen. By (2.3,2), By(3.2.2), By(2.2.3) en 3350630, 88 FEDH SQom.
FPOE 2 Sor 3 Soe 5 €P0B Do) B; ol 28 20030, FPDE 4 S 6 WIrd@ Do) B, Dok

w8 20080, FPIE 1 BB B; Dok ¥ 2003 0Ly S S0, 88 Ao Wodd¥
DS &8 Do) ol %8 GH VYR WoBR SOKL Dozr?dge

Options :
2
1. % 7
5
14
2.
3. %
2
4 % 3
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If the coefficients @ and b of a quadratic expression x~ +ax + b are chosen from the sets

A={3,4.5}and B={1.2.3.4}respectively, then the probability that the equation

x>+ ax +b =0 has real roots is

JEEN O ERUN VL SN X rax+b S K500 @ HOOW b 0D SEP DD
A={3,4,5} 20050 B={1,2,3,4} © b o¥d, &Y **+ax +b =0
VTSN TIPS POV O G0l DogdPdged

Options :
|
|, & 6
S
2. 6
3
3. = %
7
12
4 8
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A random variable X has the following probability distribution:

X=x 1 2 3 - 5 6 7 8

PiX=x) (015 OZ3 K 0.10 | 0.20 0.08 | 0.07 | 0.05

For the event E = {X/Xisaprimenumber} and the event F = {X/X <4}, the

probability P(EU F) =

o5 mcﬁaao%m Woord X, & Sob Zﬁaa;“és@" &)&éz&a’ﬂ&& 590 ol

X=x 1 2 R 5 6 7 8

P(X=x) | 0.1> | 023 K 0.10 | 0.20 0.08 | 0.07 | 0.05

'.JJ

206 E= {X/X 28 5rs Doy | 0050 0éS F = {X/X <4}, § Jorgesges

P(EUF) =

Options :

0.35

1. %

0.57

0.87

sind 0.77

Question Number : 41 Question Id : 7196501161 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

A fair com 1s tossed K times so that the probability of getting four heads 1s equal to that

of getting six heads. If the probability 1s maximum for getting r heads then r =

AV e VEARNV[SIEVETARSEV NI To SEARN W (DI R FTARSEVA IS S VSNV CIETo VI W Vg
o8 QP58 T°60), K PG0 od08 P, I 28800 8Pl 00aPaiged (0030B, @0 T =

Options :

1. ® 9

~

T
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Question Number : 42 Question Id : 7196501162 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
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Correct Marks : 1 Wrong Marks : 0

If a variable line 1s moving such that the intercepts made by it on the coordinate axes

are reciprocal to each other, then the points P(x, v) on such lines satisfy

w8 S0 0D ArdE ©FTOR W WS otidne HEO e (08 ToIESH) DS,
R080{e @di:;?seog.prr SC0eDB0E), €T o) BV D L DotHL P(x, 1) Byddodd
Options :

x+y>4

, » P>l

4xy < 1
3. v

x+y=4
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Suppose the axes X and Y are obtained by rotating the axes x and y by an angle 6. If the
equation ¥2 + 2 /3 xv—12 = 4a? is transformed to X2 — Y2 = 2a2 with respect to the XY-

axes, then 6 1s equal to

X 00050 ¥ @FOD 0 §tiowd &edtio Woldowd P TPautdsd @Fr e X udain Y edugiotro.
X2 +2 /3 xy — 7 = 4a” DEGeasn, XY -0 D8P X — Y2 =2a” § 8raroido Db,

W 0=
Options :
z0
& B
60°
2, %
0
0
4. 30

Question Number : 44 Question Id : 7196501164 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
If the lines drawn along the diagonals of the two squares formed by two pairs of lines
) ) ‘ .
x" 3lx] +2 =0 and v -3y + 2 = 0 form a square ABCD, then the equations of two

adjacent sides of the square ABCD are

Doty Bae oSiyswen ¥2 —3fx| + 2 = 0 Ho8akw 37 3y + 2 = 0 0D BB Totd
SESEIBNO DEGINO Fotls HOS TN &8 ISI0 ABCD P 8180063, @510
ABCD 580800 GO, Dothd €505, 2ze500) 0d0Edesssne

Options :

X+y=-=3x-y =3
1. ®

kP =0y — =3
2.5

~

T
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Correct Marks : 1 Wrong Marks : 0

T

If =
3

is the angle between the straight lines px+gv+r=0 and

ysina+veosa=r (r=0) which meet at a pomt A and the straight line

xcosa—ysina =0 also passes through the point A. then

2ota)) A 3Q 30V px+qy+r=0 00 xsina+ycosa=r (rz0) JSFTDO g

o & 300050 VG0 xcosa—ysma =0 3rze A Koot el , O

Options :
1. =4
p+q =2
]
p2+q2:f'2
3. %

3. 2
Py =2r

4.%

Question Number : 46 Question Id : 7196501166 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The distance between the pomt (2.1) and the 1mage of the point (3.—1) with respect to

thelme 2x + v — 1 =0 1s

2x +y — 1= 000 &yrs (.1) Do g HDNSNSH SH00 (2, 1)

23053305)0 :;33635 &r8o.

T
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Options :

37
5
1. ®
81
5
2.9
89
5
3.¢
29
5
4, %

Question Number : 47 Question Id : 7196501167 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Let OABC be a parallelogram. The equation of one diagonal AC 1s x+ y—1=0and the

combined equation of the sides OA. OC is 2x” — v> =0.If G is centroid of the triangle

OAC, then BG=

OABC & D708 SSetuyze ©5080mR. $8850 AC DEGESD x + 3 —1= 050050
22300 OA, OC © &b D080 2x” — ¥° = 0. Sahusn OAC Gy, So@errRsw

G @one, BG=
Options :
L 245
M
2. 3
2
—A/15
" 3
3. %

~
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Question Number : 48 Question Id : 7196501168 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
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Correct Marks : 1 Wrong Marks : 0

The acute angle between the pair of straight lines joining the origin to the points of

intersection of the line x + y — 1 = 0 with the pair of straight lines

>+ 8xy — 3"+ 2x — 4y — 1 = 0 is

x+y—1=08, b’+ 8y — 317+ 2x — 4y — 1 = 0 D5¢ O afuiyoes” B
NN EVTAVN) SIUMINLS O EAVN SINVE- (B o N AR STo o0 eV Ve hINAVIN VAT o DR SATE - NN

Options :
T
1. % -
T
2. % -

1

Cos‘l(—]
L e

' 3
CDS“I(‘—
) 2

. SER

4.9

Question Number : 49 Question Id : 7196501169 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The centre and radis of the circumcircle of the triangle formed by the lines

2x+3v=10 , y = x and the X- axis are respectively.
Bwen 2x+3y=10, y = x 005 X- ©Xowd JSYE Bahecsn HOSYBo CBNE), Sodan
2300050 TPgPTS0 SEUDT

Options :
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2. %
5 -1\ [13
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Question Number : 50 Question Id : 7196501170 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

If the straight lines 3x — 4y + 4 = 0 and 6x — 8y — 7 = 0 are the tangents to

the same circle. then the area of that circle (in square units) 1s

3x — 4y + 4 = 0 000 6x — 8y — 7 = 0 VEV0DLD 28 SyBA0HL o

0652000 90008, YYD € BB A3E) PFeEL (]| osrdees” )

Options :
Or
4
1. ®
Or
2. 16
257
. 9
3.8
1217
25
4, %

Question Number : 51 Question Id

: 7196501171 Question Type : MCQ Option Shuffling : Yes Display Question Num

~

T

ber : Yes Is
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Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

In the list-I each item contains equations of two circles. List-II contains the number of
common tangents for each pair of circles given in List-I. Match the items of List — I

with those of the items of List — I

2320 1 €5°Q 03 ©odo &5° Tothd Syoasner HabEBEssen &) ow. 2280 I ¢5° @odSen
a0 | §'Q 0ot SYBS00B Ko &b 060DV Dotgen. 2o I S'Q ©oPOD
e I1 &5°D om0l 28 Bodod .

List-1 List-1I
g | ez 11
A) ¥+y +2x+8y—-23=0, ) 0

C+HyY—4x—-10v+19=0

B) ¥+y? =1, m 1

X+ —2x—6y+6=0

C) P¥+y*—8x+2y=0, Im) 2

P+yP—2x—16y+25=0

D) 2+y? =4, IV) 3
x> +y?—2x=0
V) 4
The correct match 1s
00D 22¢h
Options :
B C D

V I I I

|, *
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2. %
A C D
IV vV I1I II
3.9
A B C D
- III IV I V
4, ®

Question Number : 52 Question Id : 7196501172 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
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Correct Marks : 1 Wrong Marks : 0

- ) o . :
{O. ' is the radical centre of the circles S,: x° + y*—2x + 6y = 0,

)

S,: x*+y°+ 2gx—2y + 6 = 0and S,;: ¥*+ " —12x+2f + 3 = 0. If S; and

-h-]..u

S; mtersect orthogonally. then (g, /) =

SyBSwen ;i X7+ 37 —2x + 6y =0, S, P+ 7+ 2gx—2y + 6 =0

SO0 Sy 7+ ¥ —12x+2f + 3 = 0 © G, SPL oW {0. i . S2 500K

S3 €0 VeI EolP Woliowd §7old, WD (g, /) =

Options :
(5
12
N4
o
( 1, ":}
2. % \ i
o)
_ 2
3. % '
e
12
4. %

~
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Question Number : 53 Question Id : 7196501173 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
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Correct Marks : 1 Wrong Marks : 0

For the circles (x—a)’+ v = a® and x* + (v—a)” = @°, where @ > 0, which one of

the following 1s not true?

a > 0 ©0de) ) (x—a)*+ v' = a*H0c%w x*+ (y—a)’ = (33659)8_32051}@50 & Sod

T°e5° VO RS S°E?

Options :

mid point of the common chord 1s {

u}:).

a a)
3"2)

a a
€0), G 2375 Gy, 50853 2olida) {EE]
. %
length of the common chord 1s ( V2 a)
aad ey oing, ¥ (V2a)
7w
the circles mtersect at (0, 0) and (a. a)
28 SHBI00K (0, 0) S0 (¢, @) DG Wotiotd §otron
3.8
common chord 1s at a distance of (\/En) units from the centres of given circles
GAG aPg, B SISV SoBNO Do& (V2a) DY ErSeS sod
4.9 -

Question Number : 54 Question Id : 7196501174 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
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If S(a. b) 1s a fixed point and P(«, £) 1s such a variable point that

4[( x—a )3 +(y-b )Z} =(ax+ fy+ 7’)2 represents a parabola, then the locus of P(a. f)
15

S(a, b) & S BotsP. 4[(1-_{:)3 +(_~,--b)2] =(ax+Bv+7) 28 HOPSOONSNS

QPN P, f) 208 SO0l Wotiiad) w00, 93D P(a, f) Gy Dotddean

Options :
F=4a
. ®
2+ 2:4
2.9 e ﬂ
LS
4 2
3. %
(a+ pp=14
4. %

Question Number : 55 Question Id : 7196501175 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

If P (-3, 2) 1s an end pomt of the focal chord PQ of the parabola v +4x+4y =0,

then the slope of the normal drawn at Q 1s

YV HAx+4y =0 HoPS0oSD CIog), TeekRy PQ g, &l £ Duked P (-3, 2)

0B, 80 Q & HON2GES &L el

Options :
-1
2
1. v
2
7 R
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Question Number : 56 Question Id : 7196501176 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
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Correct Marks : 1 Wrong Marks : 0

Equation of a common tangent to the circle x* + v* =4 and to the ellipse

2x" + 25y° = 50 is

¥+ P =4 SHEP08 HOOKH 2x° + 25y° = 50 BOSHTPAS KO wE GNYG 060w
G30%), DedEGEISD

Options :

ﬁr+ﬁ_}*+\/§ =0

V2x—21y+ 2423 =0
4

2.9

J19x -2y +2421=0

@.\'—_1'+2\/E_U =0

4 B
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The 6 is the angle made by the common tangent to the circle x°+1° = 16 and the

e

ellipse ;—; +% =1 with positive X-axis, then cos 26 =

2 g

B850 2412 = 16 SO0 BESyBS0 §-+%~:1 I 0 BANYE 6, B &

—

X-0¥oed” 3 §30 6 9003 DN cos 26 =

Options :
2
-
1% 7
S
6
2 ®
—1
8
3, %
|
4. 8

Question Number : 58 Question Id : 7196501178 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

For the hyperbola x*—3v?—4x+2y+c=0, if the focus is S (2+2J§. k) and the

directrix that is adjacentto Sisx =2 + J2. thenc=

©S oS00 ¥ =)’ —dr+2y+c=00m8, a8 T S(2+2v2, k) oA S §

S0 orP (0 JONG B x =2+ /2 wowd, sy c=

Options :
1. % 0
—1
2w
1
3. %
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Question Number : 59 Question Id : 7196501179 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks :
The quadrilateral formed by the points A (1. 2. 5). B (-1. 6. 1). C (3. 4. —3) and
D(5.0.1)1sa

A(1,2.5).B (-1.6,1), C (3. 4.-3) 3000 D (5, 0. 1) &3 6@ Setyes a8

Options :
Parallelogram
- iTPoBS S8 essw
Rectangle
&G SEGDS8N0
2. 8 = ~
Square
INCLOSAY
3.¢ -
Rhombus
SNVEWLE DO VATZINW
4, %

Question Number : 60 Question Id : 7196501180 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

A line with direction cosines proportional to 2, 1. 2 meets the line L; passing through
(0. —1. 0) with direction ratios 1. 1, 1 at A (x. v, ) and another line Lo at B (1. 1. 1)

thenx+y+z=

250D A5 SH 2, 1,28 0DreS Gok 0D &F Jowgen 1, 1, 1 1P 5 2otioad)
(0,1, 0) thor> FCL BB L1D A (x, ¥, 2) 5 SH0030E o Ly 9 B (1, 1, 1) 5 5O,

~

T

W)Y xty+o=

Options :
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3, %
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Question Number : 61 Question Id : 7196501181 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
If a plane m passes through the pomt (-1, 6, 2) 1s perpendicular to the planes
y+2y+2z-5=0and 3x+3y+2z-8=0, then, the perpendicular distance from the

poimnt (1. —1. 1) to the plane m 1s

(-1, 6, 2) oo® FOL 28 S W, GOSN x+2y+2z-5=0 OAW
3x+3y+22-8=0, ©X Qoo &olJ, @YW (1, —1, 1) Dotled) Sels SeoSw 1t § o

€020 QPGS0

Options :
20
29
| ®
21
29
2. %
27
29
3.8
29
4.«
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If f:R—FK

F and g : Z. — E_be defined by
5 (32 2%—2
x+2 23>0
f(x) = { and g(x) = {x - 7.
2 —-% *®%90
LX< 3
then l_in{} gof (x)

R R 005w g:R—oRew

7(9) y.l‘ 2 > T ‘

™ = B\X) =YX
lza-% %27 :

7 QG gDeebd, @i lim gof ()

Options :

1s equal to —7

=7 §38°S0
1%
1s equal to —5
—5 § J5PS0
2.
1s equal to 2
2 § Jaeado
3. %

does not exist

S350 T

Question Number : 63 Question Id : 7196501183 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
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Correct Marks : 1 Wrong Marks : 0
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1
lx—a)
Defme f: R>R by f(x)=|(x—a) -e'—l—_. forx=a
{X=a) —'F—l
0 B
Then which one of the following is true?
1
Elx—a'} 3
: f{x)=|{x—a8) ——. x#a §
fiRoRD  f(x)=](x-a) 1 | e
e’ + ;
0 x=q

O &1 §obd TAS DO Dehgw ?

Options :

left and right limits of /* at x = a are equal and they are not equal to f(a)

X = a 3¢ £ 0T, 0I5 S00%0 Fob 895G Deirao SHOOKN 8D f (a) 8 Dasedo

AV
| ®

both left and right limits of f at x = a exist and are not equal

x=a ¢ f G3NE), eI SH00K0 $ob 8GN S350 HOOKN €9 eSS0
7 B

the function f(x) is continuous at x =a

P00 fx), x=a O DI\ o
3. & +

the function f{x) has a simple discontinuity at a point other than a

a 5°800G° o300 Wotied) a5 DaddOie f(X) 8 DI &)O)nﬁ;@rﬁ) £ @olodd
4. % ) :
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I i

f(x+h)-f(x)

h—0

h

a
dx

Options :

e +1
1.¢
Z.x
X8 +X%
g
xe' +1
3,
7.5
%
4 %

(/(x)e™)

d
+

I

dx

d (£(x)

=e" (x+1)and £(0) =0, then %(f(x)e‘xﬁ

e (x+1) SoBasn f(0)= 0,908 98¢

dx L X
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s
xmn(—],farri(}
X

Let £ g: R —» R be functions defined by f(x)=+ _
0, for x=0

and g(x) = x f(x)
Consider the following statements:

(I): f(x) 1s Continuous at x=0 but not differentiable at x=0

(I):  g(x) is differentiable at x=0_but g'(x) is not continuous at x=0.

P

xsin(l}qforxio

X

&

S (x)=; § 3000k g(x) = x f(x)

0. for x=0

L.

[ g8 R o> R J0irew I030e020GT700 @08 00

8 50l DAITOD 08 oG,

(): x=0 56 f(x) SIS 0, TV ¥=0 56 S50 57

I):  x=0 3¢ g2(x) 93500050, 0 x=0 S g'(x) SO 0 5%

Then, which one of the following 1s TRUE?
O & §od TS’ 2O D90 ?

Options :

(I) 1s true : but (II) 1s false

(I) 3Bges0, °Q (IT) e0Bgsw0
1. %
Both (I) and (IT) are true
. (I) 250050 (I) € Tothd DBgSw
2.
(I) 1s false. but (II) 1s true
(I) @035, 577 (II) DBgS0
3. %
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Both (I) and (II) are false.
(I) 2500050 (II) &0 Tole) 0Lg8w

4.%
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If v(x)=Tan™ s

and (1+r:2x3]_1"’+g(.1’)‘1-":0 then, the sum of the
ax

S e—

roots of the equation 1+a°x* + g(x)=0is

52 §)
Lk IJ S00%0 (1+a’x? _}ﬁ1-‘"+g(.1*)_1-"=0 €000 QYD

y(x)= Tan™
ax

1+a’x” + g (x)=0 DD0EGeac50 GIE) SAFOS0L GI0E) S030

Options :

2a
], ®

_202
7 ®

2
3, %8

-2
4.«
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A vessel in the shape of an inverted cone of height 10ft and semi vertical angle 30° is full

of water. Due to a hole at the vertex. the slant height of the water n the vessel 1s

; s 3 . : : :
decreasing at a constant rate of — feet per minute. The rate (in cu. feet/min) at which

V3

; ; : . 8
the volume of water in the vessel 1s decreasing. when the volume of water is

NE]

cubic

feet. 18

508 FoXoeh) BFTeS” 10 e I SO0k 3¢ ©dsTme 30°ed” o as PG JPOF
L.
NG

D08 DD &) DD,

IS Qoebiol. TP B0 o565 (0 Al EI) S SIS PGSV A TP WD ARPRS

8T

V3

FSe5° A LD HOATEAN I (] |eaciorien /0Roees’)

29D e O TEWeS” S8 ok, DBV DS DOSTESN

Options :

27
J3

1. %

21
2.

2::\6
3, %

73

4. %

Question Number : 68 Question Id : 7196501188 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

gcollegeduniaa

T



The area ( i sq. units ) of the triangle formed by the tangent and normal drawn to the

M n

curve [i} +(i} =2 at (3,4) and X — axis is
3 Lt

b

B n o 1\1
(3.4) ¢ (l] -H) =2 5708 HODD 0\6, B ©DWoRAD HHBOID

X —0g2008 D6 G Sabasw Juge (|| chraees’)

Options :
100
1. * 3
48
2. %
50
3
3.¢
144
4 %
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b—a

d—c_

If the curves ax” +by® =land cx” +dv® =1 intersect orthogonally. then

ax’ +by’ =1 00k o’ +dy’ =1 SES0e0 LoERen s DS D oCNEI, BN

b-a

d—c_

Options :

ab
¢ d

.
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a+b

| c+d
7 R
1
0
4. %
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The ratio of the maximum and minimum values attained by the function

. 9 21 .
f(x)=1+2sinx+3cos"x, 0<x<— 1s
. 27
f(x)=1+2sinx+3cos’ x, 0 <x< —— HIOKo Fodd HOR SHO0KV ¥V LS N

Options :
. Il
1. 8
13:9
2.
914
3.8
8:13
4, %

Question Number : 71 Question Id : 7196501191 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

collegedunia:s

India’s largest Student Review Platform



o ‘i(f(ﬂf))2 =xf(x)+30 and J (& +(1_30-T;)f(x)_)3 dy = = +C

(10 f(x)—x)(x¥’ = f(x))  BX+Df(x)

thenA+B+D=

o | 3 2 b
5(f(x)) =x7(x)+30 K00 | (3¢ +(1-30x) /) dx *‘""‘

(10 f(x)—x)(x° —f(x)): ) Bx'+D f(x)

: g b

OB WY\ A+B+D=

Options :

o

|, ®

Question Number : 72 Question Id : 7196501192 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
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Correct Marks : 1 Wrong Marks : 0

2

If Jx[log(l-l-x)T dy = (1 '1"61) (f()) + (1 +x)(g(x)).then f(x) +g(x)=
s . (1+x) ’
Ix[lng(l+x)] dx = = (f(x)) + (1 +x)(gk)). eonsd @“D‘Dd)
f(x)+g(x)=
Options :

log(1 +x) [6+9(log (1+x))—7(log(l +r)]2] +6G

1. %
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log(1+x)x’+ 7(log(1 +:~:'):)2 + 4log(l1+x) +C

12-18 log(1 +x)+ 15(log(1 +x)) —9(log(1 +x)) +C
1 R

6log(1+x) — 9(log(1 +x)) + 7(log(l +x)) +C
4.v
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Correct Marks : 1 Wrong Marks : 0

(:H— 1+x° )_
' dx =
1+x°
Options :
X L
1+
|, ®
log ‘x+ V1+x® |+ e
2 B
Y41+ +C
(Ix + 1/1-1-.1'3 )
= =
=
4. -
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"
X' —x ‘
_[ e dx =

-

Options :
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©-1)
4 ( ) l +C
151 == |
1.9 4
4 r4+1]%
5 +C
DY =
2. %
"
\/x + X +1+C
3 % X
3( %, K
Z(I 3+."l'3 )—l—C
4. %
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I 7

I H I

lim

b

n

If}é

7

H

"

Vi

£

Options :
2
1. % 3
-1
93
2.
V2
3, # 3
"
oNE
4. %

| (H-!-E(H-l))% } (n+3(n—l))%

g — — =+ -
g n% n/? (H-!-z)% [1'1-1-3)/3 (n‘+4)%

(7+6)

~

T
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i n+3 n—+9
Bl s — e
== p- 4+ 1° n +2 n+3
Options :
.
—=— Iy
2
1. v
~ bl
2 o
2. %
T 3
———In2
? 4 2
3.“
w i
—+—In2
4 2
4.8

.................
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If the area lying in the first quadrant and bounded by the circle x* + v*— 4x = 0, the

parabola y” =x and the X-axis is A, then 6A — 93 =

X+ 17— 4x = 0, SyBSn

Options :
yin
]_ o
21
2. %
3n
L
4rt
4.

A

=X VOPI000SN HOCKN X-0XS00w 0020630563
0L P50t ol FFOgSD A oD BEPYd 6A — 93 =
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If the order and degree of the differential equation corresponding to the family of curves

(x—2) +(v—a) =b", (where a and b are parameters) are m and » respectively, then

.
m-+n=

(x=2Y +(y—a)=b* (@ 00N b @ JTDWED) OF SFO HECEESDIE
OIS BSOS DAEGEI0 Gy, HOSTBIN SHOCLL BSHD SERTP M SO 1

DO B m’+n=

Options :
1, ® 7
S
2.
. 9
3. ®
3
4, ®
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: - : s AR I .
Consider the differential equation L and the following statements:
dve ax+4y+7

A) The given differential equation is linear in x
B) The given differential equation is not linear in y
C) The given differential equation 1s linear m y

D) e™ 1s the integrating factor of the given differential equation

Do L hnesmDy sobam & 2 pasTem Sl
de ax+4y+7

A) B 380D DAECRAD 1 S° FDOH IEVD DAEGEIAD

B) ¢ 93800 D0E0RAD 1 & 3D0H @SSO DAEEE0 TP
C) GBS 05800 DASERAD 1 &S° FDAD 9IED DALECEIAD
D) C55 9BEOR DASGEIAD A, DAFSVD (DEaSAW e

Which one of the following options 1s true?

& 800 DAYFOS" R D350 ?

Options :

Only C and D are true

C 200050 D &0 5@ 08gadn
1, %

Only B and D are true

B 3500050 D S5rgad 08gad0
2 B

Only B and A are true

B 00080 A SeGed 0Egew
3. ¢

Only A and C are true

A 50050 C S5eghady dBgasw
4 %

Question Number : 80 Question Id : 7196501200 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
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Correct Marks : 1 Wrong Marks : 0

. : : : dy ; :
The solution of the differential equation xcos x; +(xsmx+cosy)v=I11s
x

dv ;
€90580a5 VaEVEIDN X cos 1‘d‘—1+ (xsmx+cosx)y=1 A0S FdS
i

Options :

xsecxy —yvtanx=C

| ®

x* yeosx —tanx=C
2. %

xysecx+ytanx=C
3. %

xysecx—tanx=C
4. v '

Physics

Section Id : 71965023
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 40
Number of Questions to be attempted : 40
Section Marks : 40
Display Number Panel : Yes
Group All Questions : Yes
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 71965023
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 7196501201 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Find the correct statement

800 oS’ HOGS HAAESS O
Options :
photon carry some momentum because they have a finite rest mass
Q0N VO P530°8 &S, PGP S §'o Qadgadtiadnsdd SON &olrow

-
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electromagnetic force i1s weaker than weak nuclear force but stronger than
gravitational force
DE03D ONNPY0H 20 LY 5ol W0 §T°) WLAPIAP Gotlod PR Hodugdg

W0 5T°), WP Goltlol.

b2
¥

weak nuclear force 1s responsible for the stability of nucle1

§o§_§§ RO IBNIK VLY §Gé§ vere PG

:.J-J
¥

electromagnetic force acts over large distances and does not need any
intervening medmm
0D WO 0 WL WS KPTPLES” DAL OO wIerald SIPSESD

95000 &olsld.
4.9

Question Number : 82 Question Id : 7196501202 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
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Correct Marks : 1 Wrong Marks : 0

The dimension of g, in mass (M), length (L) and time (T) 1s

Ho

(E= Electric field, 4= permeability of free space)

Qag0°38 (M), QorGe (L) 0008w e (T) wes E— adwg). oghen?
A

(E= 0803 Eo. 11y = g°yoB80°vlo CIEy, HIdg800)
Options :

[M2L3 T-—EAE ]

1. %

[ML T"]
2.
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[ME‘ T_E]
M T™

Question Number : 83 Question Id : 7196501203 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
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Correct Marks : 1 Wrong Marks : 0

A body moves 1 a straight line with speed v, and v, for distance which are n ratio

1 : 2. Find average speed.

112 AQNBS' &), Arorod, wl W) Vv, 0N v, JPwed” KO Sar SrgesS

WO, TR VOO0 oo

Options :
3v,+V,
1, %
v, + 2V,
2. %
3v, V,
3.7
3wV,
vV, =2V,
4. %
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A block of mass m placed on a rough horizontal plane 1s pulled by a constant power
P. The coefficient of friction between the block and the surface 1s p. The maximum

velocity of the block will be

‘W SS50°8 B0 a AW SBeNSTBS BB SBeop DO PSS P S LrtRGd.
Q0 50, Berrs oddg e Dodes e 1 OGS Qeldy CINE) (0K o3to

Options :
1P
mg
1. %
(mg
¥
2. %

Hmg
4. ¢
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Consider a particle 1s moving with a mmmimum speed v and 1s at highest pomt of
vertical circle of radius ‘R’. If the radius of the circle doubled the corresponding

minimum speed will be

R’ PgPGo (50 88 8o v EIQ 3t50eS” EILIP SOSSNES'Pobor &8 Syho Y,
(505 Dotideg) 55 Eoltaol. & Sy TgPGo Dolhd TEL DOASLONE, TV &Y o

Options :

'\‘.f

~

T
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2.

V3 v
3, %

J2 v
4.<¢
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Correct Marks : 1 Wrong Marks : 0

A ball 1s projected with a velocity 5 m/s so that its horizontal range 1s twice the

greatest height attamed. The value of range 1s

5 m/s Hoeh B Wodd HEHDIPYH BB I B0H VSH ot OGUT W
£32e080P03 TPgd) &) B. TP T°g8) DS
Options :

10m

2m
2.9
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A block rests on a fixed wedge inclined at an angle 6. The coefficient of friction
between the block and plane 1s p. The maximum value of 6 for the block to remain

motionless on the wedge is

0 $tio S0 VS TP BLoD &8 OIY A WP Godd. QY SHOKN BLow Sy DuTes
(08a8o |1 OB B TP B0 SWLBVT GotaIS0 "0’ Al HOR VNS

)

Options :

L=tan 06
1. ¢

1L=-sin0
2. %

It=cos 6
3 %8

IL=cotH
4. %
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A block of mass 4 kg rest on a rough inclined plane making an angle of 6 with the
horizontal. The coefficient of static friction between the block and plane 1s 0.5 and the

frictional force on the block 1s 14.14 N. Find 6?

£3205P0B80es” ‘B Tren B0 al KX Suop 4 kg BS30°8 K0 QY VIV God.
Qaldy HOCKN BLL DGy VBE T (e DL 0.5. AL DAICKW DudEs 2o
QS 14.14 N @000, 6 De0ad adotd ?

Options :
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Two blocks of equal mass are connected with a massless spring of spring constant

2500 N/m’ and length 10 cm at rest on the frictionless horizontal plane. If a constant

horizontal force 10 N 1s applied as shown i the figure. find the maximum distance

between the blocks.

B530°8 Gared Yo% BT Totld De5Pd gPde (10 QIS SHOITL . oh

B8y V0%Se 2500 N/m* HOCK0 Fad) 10 cm. & B30 Hodes S8 3080

Sop AV &I oW. 10 N 38 £3x0:507BS 20t AR DAFHDGS, Gdyw
S33053 (5 (505 CSPSo Jots?

Options :

10.8 cm

10.4 cm
2.

10.6 cm

10.0 cm

K

00000

m >

7.

FLAETEA AL

Question Number : 90 Question Id : 7196501210 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes Is
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The graph of potential energy (U(x)) versus distance (x) 1s shown in the following
tigure. The force (F) versus distance (x) graph will be represented by

(Assume that the force 1s conservative)

e3es 45 U(X) 20050 GrTrod (X) PR Sodd adgetoldd. X ArTPS @3t 0EdP S5°d) F
WP (PR B POV DPDouioSd B ?
(OSSO D9 INN EOBD SIS

e .
O P "X
Options :
P &
=
O ./—) X
1, % ¥
F &
O > X
/P
). % =
F %
O ¥ > X
3‘#’ k4
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Question Number : 91 Question Id : 7196501211 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
A point moves in the Xy - plane according to the following equation X = a sin ot .

y = a(l-cosot), where a,® are positive constants. Find the angle between the

point’s velocity and acceleration vectors.

X = asmot,y=a(l-cosot) IR DO w8 ol Xy -BotS
DOPEIToD. a,0 W GBS JTTL VoD, & Wotied) CIVE o DOF SO0 e
AL S cﬁ)C‘),S §°€30 0doH?

Options :

L
2

"‘”lH

Il*x.}
%
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Assume proton 1s rotating along a circular path of radius 1m under a centrifugal force
of 4 » 1072 N. If the mass of proton is 1.6 x 107 kg, then its angular velocity of

rotation 1s

4 % 1072 N © 09308 Wo SO & FErS 1 m aPgPdo ¢ SYT°SE 5E36S° XL &.
P $530°8 1.6 107" kg €0 0900, 7o 80es §’e8od a¥fo

Options :

5 % 107 rad/s
1.9

10 rad/s
2 B

2.5 % 107 rad/s

10 rad/s

Question Number : 93 Question Id : 7196501213 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
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Correct Marks : 1 Wrong Marks : 0

A particle 1s exhibiting simple harmonic motion has its displacement (x) and velocity

(v) related as 4v* = 25—x*. The time period of SHM is

Options

msec
1. ®

2msec
2.8

~

T
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3 7sec

4 rsec
4.9

Question Number : 94 Question Id : 7196501214 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes Is
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Correct Marks : 1 Wrong Marks : 0

If the escape velocity on earth 1s 11.2 km/s, 1ts value for a planet having double the

radius and 8 time the mass of earth 1s

PR HPODS 3o 11.2 knv/s ©owd Zrdnd Both BN TPgPES SH00% 8 B
$5530°8 EOBS S6E PR HEPOHRS o

Options :

224 km/s
R4

24.3 km/s
2. %

26.6 kim/s
3. %

44.8 km/s
4.8

Question Number : 95 Question Id : 7196501215 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

collegedunia:s

India’s largest Student Review Platform




If the bulk modules of water is 2x10°Nm™ then the required pressure to reduce the

given volume of water by 2% 1s

D3 &0HS %o 2x10°Nm™. OIS, T°A e DS DOSTEPVY 2% BHowSEERS
POV Ceedo

Options :

2 X 107 Nm—2

4 %107 Nm—2
2.«

8§ X 10 Nm—2

5x 107 Nm=2

Question Number : 96 Question Id : 7196501216 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes Is
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The surface tension of 70 dynes /cm 1s equal to

70 dynes /cm SOBIZBE 0aiTPSe3050
Options :

70 N/m
70 = 107 N/m

7 « 10° N/m
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7 x 10° N/m

Question Number : 97 Question Id : 7196501217 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Assertion (A): A thermos boftle consists of a double walled glass vessel with the
space between the two walls evacuated so that the heat transfer
between the contents of the bottle and outside 1s mmimised.

Reason(R) : The vaccum between the two walls mhibits the heat transfer by

radiation mechanism.

BB (A) @ o SO0 P SO Godd VEPFSNL 3G WONLYH DSPedB0eEe,
GRS ol TPe2 (3 6e Gols, (TEO a0Gig ErAg¥00ents Gotiold

580 (R) : SGOA0 (0880) DSOH wri0P @20 Toth (e Sy o Erdgo
N OTANVIAY

The correct option among the following is
&5 300 DOYFLES” HOGHIE
Options :
(A) 1s true, (R) 1s true and (R) 1s the correct explanation for (A)
(A) DBgasw, (R) 0Bgasan 00050 (R) 9038 (A) § DO D58¢es

(A) 1s true, (R) 1s true but (R) 1s not the correct explanation for (A)
(A) DB, (R) 08550 5°Q (R) @038 (A) § 00QS 0a3Ges 5°60

(A) 1s true but (R) 1s false

(A) VB350 5°Q (R) 90D g0
3.¢
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(A) 1s false but (R) 1s true
(A) g0 5°Q (R) dehgado

4.8

Question Number : 98 Question Id : 7196501218 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

How much heat energy is supplied when 5 kg of water at 20 °C 1s brought to its
boiling point?

(Assume specific heat of water=4.2 J/g°C)

20 °C © &YES FONS 5 kg © I grl) WSS PrRs SSWHILH Dot GY 9
©8X80?
(93 DBFHIN = 4.2 J/g°C S8 $H5m)

Options :

1680 kJ
1. v

1740 kJ

1680 7]

174017

Question Number : 99 Question Id : 7196501219 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What 1s the name of Ideal-gas process in which no heat 1s transferred?

&2 WO BN &Gy TeOe) HSN?

Options :
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Isochoric

- Do) a0
Isothermal
DD &AL
) %
Isobaric
2030 8865 (Isobaric)
3 %
Adiabatic
AERE
4.

Question Number : 100 Question Id : 7196501220 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Mean free path of molecules n a polyatomic gas 1s independent of

2TV DTSTEWE TPOINDES V BEVHL Ty, VD7 D S0&geddo 2 SO,

Options :

number density of the molecules

VED)HLV Pl Jolg

volume of the molecule

EIEDNL) IVIVOITEd0

Temperature of the gas

TPO0e)) @S

3, %

Gas constant R

TPOSW {'go‘*oéo R
4.

~

T
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Question Number : 101 Question Id : 7196501221 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Three masses 700g, 500g and 400g are suspended at the end of a spring shown m
figure and are in equilibrium. When the 700g mass 1s removed. the system oscillates
with a time period of 3 seconds. If 500 gm mass 1s further removed then 1t will

oscillate with a period of

700g. 500g 550050 400g ($8g0HN 28 13900 DSGS DS WS P Jerdets
&) OW. 700g 530780 "N )00, & S350 3 VES BIGS 5700l ELSe W
BT TP ol 500g $dg0P3 PG F'ONR), Jgadd BSGS Lo

SONRANANN,
700 g
500 g
4009
Options :
ls
1. ®
2s
2.
3s
3 #
12
—S
5
4 %

Question Number : 102 Question Id : 7196501222 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

T
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Correct Marks : 1 Wrong Marks : 0

A thin prism of angle 6° made of glass of refractive index 1.5 i1s combined with
another prism made of refractive index 1.75 to produce dispersion without deviation.

Then the angle of the second prism 1s

IS0 G DEDEISN BODEIE Tolld TP DEESNV SO GoPd). &8 DEIESNIH

6° §'€30 SDOOSN S52ISS (Do 1.5. HEE DEEaS0 S55a35e5 (06380 1.75 0SS, Bolésd
é@g $°tso o)o@?

Options :
50

80

A°

<1

60

Question Number : 103 Question Id : 7196501223 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

A small object 1s placed in the air, at a distance 45 cm from a convex refracting
surface of radius of curvature 15 cm. If the surface separates amr from glass of

refractive imndex 1.5. then the position of image 1s

&8 H002T°5°0 SEAISS B ATy S8 rgPdS0 15 cm. & Suo SEASSS Moeedo 1.5 Ko

(Peg ok POJ 38 DD, @ Berds 45 cm © GSrded, POS a8 D) S0ad)
GoD, é@?ﬁowo 3):50)& g"cﬁo

Options :

100 cm

~

T
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120 cm

2. %

125 cm
3. =

135 cm
4.

Question Number : 104 Question Id : 7196501224 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Which of the following phenomena produces the colour in soap bubble?

8005 BSE0GS TS o) €55 DRADKW 350 Xeadyy VAL’ Bortde oIS \EETO.

Options :
Diffraction
D3Gedo

1. ®
Interference
5’35@568&@

2. ¢
Polarization
ARV

3, %
Refraction
NSANING

4, %

Question Number : 105 Question Id : 7196501225 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
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Choose the mcorrect statement

800 PR HDOFAD DO?

Options :
Gauss’s law applies to a closed surface of any shape

T Q0% ENSEY WPES'FT® &S RS 28 Doy Beras SO

according to Gauss’s law, 1f a closed surface encloses no charge, electric field

must vanish everywhere on the surface

TR Q0DSe 05200, 28 Doy o BTTUD WS0oIEFD, BLod) B) JATOS
D03 Eo AreSzo WSIE

<

Gauss’s law can be derived from Coulomb’s law

T Q0HSPRY, EPe0sd Q0HS0 Sobs TLISIY

according to Gauss’s law, the net number of lines crossing any closed surface
in an outward direction 1s proportional to the net charge on surface

TR Q0o H5ede aPlrg OIS aul Dodyed Gerd) Wi Jaen S Ko 86
BJITA8 NS SRS GolIow.

Question Number : 106 Question Id : 7196501226 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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In a regular polygon of 10 sides, each comer 1s at a distance R from the centre.

Identical charges are placed at 9 comers. At the centre, the magnitude of electric field

1s E and the potential 1s V. The ratio % 15

10 %gﬁm: 0 2vS0e) Al 03 %go Sofdain ol R PGS’ aodd. 9 %gmes‘ 2.3
OEDS WITOD GodI* . Fole S Agd EG DHOSrEe E 0050 FEI0Dw V

wond, L Q)2

E

Options :

10R
1. %

9/R
2. %

iy

10
3.

9R
4.

Question Number : 107 Question Id : 7196501227 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The resistance of a wire 15 20Q . It 1s stretched so that the length becomes three times,

then the new resistance of the wire will be

o 5 AEWSN 200 . TR Feked S BER DL FEOVSLONS, T §'& Ao
Options :

200Q

1, ®

~

T
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160Q2

2. %

1200
3 B

180Q2
4. <

Question Number : 108 Question Id : 7196501228 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

In a meter bridge the resistances R and S are such that the null pomt i1s found at a
distance of 40 cm from one end. If a resistance of 10Q 1s connected in parallel with
shunt S, then the null point occurs at 90 cm from the same end. The values of the two

resistances R and S respectively are:

S DES' ESg DSOS PB DS ot 40 e © EFGeeS BN R 0050 S
QOGS WNEHYNGPOW. Qo S K DSB8 10Q © AU OB, Erg

VOIS VD 8B DSE Dol 90 cm © CrSetS T NGoold. R SDO0IN S © D00 aS800rP

Options :

25380.,350
1. ¢

3.9 0:23 0
2. %

1.50.25 €
3. %

250,150
4. %

Question Number : 109 Question Id : 7196501229 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
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Two simmilar coils which are separated by 2m are having radius of 1m and 80 turns
have a common axis. Calculate the strength of magnetic field at a pomt midway

between them on their common axis when a current 1s 0.2 A.

@83“(.:)5&1) Im Soasn 80 \.ﬁ)%_‘l) EDOS ﬁ"d?g.}%o 50 Oolh) e3¢5 xﬁ)ﬁ?@ 2m SrdoS
Gow2GerPON. 2Ed38 63&’33&& oo . 0.2 A &)Cﬁ)sé éa}"‘gj"o f%él@g@ 6‘%053&& W&o

Boch) 5§ OBOK DTS BPEet &Sy ws Dotioed) 56 HaSe ©OHF 0t EBo B8 ool

Options :

0.04~/2

1. v

2

2, .
0.04
V2
3. %
2
0.04
4. %

Question Number : 110 Question Id : 7196501230 Question Type : MCQ Option Shuftling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

A particle of mass m and charge Q moving with a speed 1n a circular path of radius R
has magnetic moment p. If the mass of the particle 1s doubled and maintains the same

speed while revolving in the same circular path then the magnetic moment will be.

wSSE 3Ged” R aPgrGaind 90 Sy@sed D& HOIPEINS), 'm’ (3078 io Q &3a38H Stto
GR0E),. 0Py 0 FPb%e NS . TPV Bdg0P8R Do) W), B0 SGed” OB SHYTsS

DS’ m@@oé})otﬁ ° @Cﬁ)ﬁ“&o@ Eg“o‘fu)ﬁo
gcollegedunias
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doubled

OIo) 830l
L%
halved
OPUS S0
tripled
o0TCed Eﬁ%n o))l
3. %
unchanged
BB Goleld
4.9

Question Number : 111 Question Id : 7196501231 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

A short bar magnet placed with its axis at 30° with an external field of 800G

experiences a torque of 0.016 Nm. The magnetic moment of the bar magnet 1s

800G zdrg ﬁéoeﬁﬁ 28 OLW WolPOLF) oo CINE). ®Ho W §'s0 30° 0NN, 0o

Do WFR) rG). (owokutly FP%e) Dend 0.016 Nm ©0ond. GoG@oiiry o8
IRSVECTDUN

Options :

0.4 Am?
j. &

0.5 Am’
2 B

0.6 Am’
3. %

~

T
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0.7 Am?

Question Number : 112 Question Id : 7196501232 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Two concentric circular coils, one of small radius r and the other of large radius R are

placed co-axially with centers comciding. If the radius r 1s changed by 2%. then the

change 1in mutual mnductance of the arrangement 1s

(Assume r<<R)

I S00 R €0 PP 005 Bothd o $of SYTRE S8 ko DK Sogren
28ESDoOIED BSOYTE. I DN 2% STOILOND, & S0ES" Surhd BS'gSg DOY

Kea80tS” S0
(1<<R ©0:58%8)

Options :

0%

Question Number : 113 Question Id : 7196501233 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
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A LCR series circuit 1s connected to a source of alternating current. At resonance, the
applied voltage and the cwrent flowing through the cmcuit will have a phase

difference of

DTS DS PIEr WSFRS LCR 3 S005rQ), @00emPAedrdd.  @8mdo
BONSY Y& TR DATPNHeDS ST DO SLONES R VS A0gRR) 0y L3°edGo

Options :
n
[ %
T
2
2. %
T
4
3.9
0
4.«

Question Number : 114 Question Id : 7196501234 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

A radiation of energy ‘E’ falls on a perfectly reflecting surface. The momentum
transferred to the surface 1s

(let ¢ = speed of light)

NoPO D0°EGJe WOl Dew ‘E’ 45 (0 2080 HSJe Cﬁo&oaéw, e 08 20BO
@Cﬁ)ﬁ éé?s o
(¢ = 5°0¢3 oXf%o @&?@m)

Options :

E

"

~

T
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C
2.9
Ec
3, %
E
o i
C
4 %

Question Number : 115 Question Id : 7196501235 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

According to the photoelectric effect. the plot of kinetic energy of the emitted photo
electrons from a metal versus the frequency of the mncident radiation gives a straight

line whose slope

Fod W3S HOBo Vo SLFIN Dol GTPEMDS POFIND DO DBIFoB
PS8 (P (R, &8 DO B HW0Q). W) TP

Options :
is the same for all metals and independent of the intensity of radiation

©Q), TP D07 DL FON, D556 SIBVS LIPSO

depends only on the mtensity of radiation

SeSo D536 SIBD WS DD

depends both on the mtensity of the radiation and the metal used
Q5363 35589 00NN &DAPHEDS &' Pod) WEPTNEINL

3. %

~

T
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depends on the nature of metals used

GDOIPNDS ST VROLEPOR PG DIV

Question Number : 116 Question Id : 7196501236 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

0
The shortest wavelength in Lyman series 1s 912 A . Then the longest wavelength in

the series must be

B5S FAS™D K0 BSol B0 KNS 912 A 000 TR’ HOQ BBotiBS50 ot ?

Options :

9120 A

1. %

1824 A

1216 A
3.

2432 A

Question Number : 117 Question Id : 7196501237 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Half life of radioactive sample 1s 24 hours. If a newly prepared radioactive sample
shows 4 times the allowed and safe value of radio activity, the minimum time after

which one can work safely with the source 1s

a8 OGAIlr 0¥ dardo CINE) @0 2B Lo 24 Kolden. ©@oNd §'&r Salrd
WOKeNGeS BLOIP G0 ¥ HPaid @-eddouients w000 WOED Deuas $ol 4 Tn O3

OGO GP0YL 5B EDaH) L0 50 edoth DS0W0 Borgeh S Hredanes” DuEE BSorr

DAIVOIIS0

T
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Options :

48 hours

48 Hotoe
R4

96 hours

96 oo
2 B

& hours

8 Moloe
3. %

72 hours

72 Moot
4, %

Question Number : 118 Question Id : 7196501238 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : (

The current gain of a transistor 1s 0.98. If the transistor is used in a common emitter

arrangement what would be the change n collector current corresponding to a change

of 0.5 mA i the base cuurent.

w8 EPAYNOS” g DI S9B 0.98. EPANE &6 GTPEE DTV &ad) W,

SRS PP S8y 0.5 MA S5 DEOE HIPLPoES Sy S0 ?

Options :

24.5 mA

~

T
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Question Number : 119 Question Id : 7196501239 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

In a p-n-p transistor, the current carriers are

P-0-p EPDYPEES” De8oged Vo ToEen
Options :
Acceptor 10ns

(jared @oﬁﬂr@
1, ®
Donor 10ns
e eaowag‘é)
2. %
Free electrons
DT 2T
3.8 GJ'S ‘) ??
Holes
SolPen
4. ¢ s

Question Number : 120 Question Id : 7196501240 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The function of a detector 1s to demodulate the modulated carrier wave and the steps

for this process are

a8 SZBEE TirEe BOoPR) BDVEISSD (Glrdogsy) IoDNEEAS al 3SR
GOAFHeNS TPIS 000D HEoHen?
Options :
demodulation and filtering

900NN (&cﬁm‘ag@éé) o003 @Q&Jc{ﬁa (a)ﬁi)f)oﬁ)

1. ®
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demodulation and rectification

ESTEZTNS o005 EHE) Seacid

2. %
rectification and filtering
¢
2IBEE) Beaa50 0000 AP0
3. ¢
regeneration and filtering
) ME VATV TTIIN Ve oV RN 6 BN 1
f
4. %
Chemistry
Section Id : 71965024
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 40
Number of Questions to be attempted : 40
Section Marks : 40
Display Number Panel : Yes
Group All Questions : Yes
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 71965024
Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 7196501241 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Maximum number of electrons in a subshell withn=4and (=3 1s

n =4 300050 (=3 GDEE oS KORP afols WUFIDL DoRg

Options :
10
], &
12
2 8
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14
3.¢

16

Question Number : 122 Question Id : 7196501242 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

From the following sets of quantum numbers, which set 1s possible?

&8 §00 BI2IG S0t DoBFL VAR’ 2B FeSg0?

Options :
1
n=1 =0 Wil W= .
1. %
]
n=1, {£=1. =9 1115=+~;
2. %
1
it =3..0=1, ;=0 1115=+;
3.¢
1
= L= 3, B, =3, =
2
4 R

Question Number : 123 Question Id : 7196501243 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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What 1s the correct order of atomic radius of AlL.Na.B and Be?

Al Na, B 50050 Be & H857m agdo OGS $50 )8

Options :

B < Be < Al < Na

Al < Be < B < Na

Na < Al < B<Be

Question Number : 124 Question Id : 7196501244 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Find the element. which displays greater ability to form px - p- multiple bonds to itself

and to other elements in the same block.

2 PO BIS EFSH SO0 ©d FPSCR B0 PO Pr - Pr WEVROTPOD
DB NBEES B PS0G g0/ HEBIXeB.

Options :

Na
1.8

Mg
7w

L1
1=

~

T
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4.

Question Number : 125 Question Id : 7196501245 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the sulphur compound follows the octet rule?

O V0N (3E E65) D APhowd VLG VS VE?

Options :
H,SO,
] ®
SF,
2. %
SCl,
3.
SE,
4. %

Question Number : 126 Question Id : 7196501246 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

A: H of which reaction correctly represents the lattice enthalpy of NaCl (s)?

800 o) 385 %), A; H, NaCl(50) e¢3% om ) H0rP HPde6?
Options :

NaCl (s) — Na (g) + Cl (g)
NaCl (av) — Na (o) + Cl (o)
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NaCl (s) — Na"(g) + Cl-(g)
NaCl (%) — Na* (&) + CI- ()

2. ¢

Na (g) + Cl (g) — NaCl (s)
Na (a°) + Cl (a3°) — NaCl ()

Na™ (g) + Cl- (g) — NaCl (s)
Na" (a®) + ClI~ (o) — NaCl ()

Question Number : 127 Question Id : 7196501247 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The volume of a given amount of gas at 27 °C at constant pressure is 420 cm’. If the
temperature 1s reduced by 20 °C at constant pressure. what will be the volume of the

gas”’

DS Do S S000% 27 °C ¢ O WSHOSTE0 420 e, wSe EHESo 3,
G HBD 20 °C 00 SNodIEn WOND & TP S HOBT*EI0 2Jotd?

Options :

o ¥ 3

350 cm
. ®

392 ey’
2.

450 em?
3.8

gcollegeduniaa
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480 cm’

Question Number : 128 Question Id : 7196501248 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

-

The compressibility factor Z = for hydrogen gas at 273 K and 1 atm pressure 1s

nRT
- § - . PV
273 K 0008w 1 atm HéiSo 856 IPEeem TP050ed) Dodcess these Z = o SIN

Options :

Zero

T°Y
1, %

one

25
2 B

greater than one

WECD 7)) 0IB0p &5
3.

between zero and one

K0Py, SO00KN 2,563 SgeS’

Question Number : 129 Question Id : 7196501249 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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In the following reaction mixtures,
1) Cu/ CuSOs + Ag/ AgSO4
2) Zn/ ZnSO4 + Cu / CuSO4

copper respectively undergoes

&8 8ol 05 FDo0S'

1) Cu/ CuSO4+ Ag/ AgrSOy4
2) Zn / ZnSO4 + Cu/ CuSO4
5700 wSGgen GO0

Options :

reduction and reduction

Z0088e80 00030 Eoh¥bese
| %
oxidation and reduction
@§b§5830 0030 L0808
2.
reduction and oxidation
£0085es0 SO w5y3es0
3.8
oxidation and oxidation
&35)50¢30 0050 &5y55¢es0
4%

Question Number : 130 Question Id : 7196501250 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

~
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The molecular mass of sucrose (C,,H,,0,,)1s

8% (C,,H,,0,, ) dws) et 8780

Options :

312 ¢
1. ®

355 g
2. %

342 ¢
3.

308 g
4, %

Question Number : 131 Question Id : 7196501251 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

In which of the processes, the entropy will decrease

800 o)

es

oS o)oég o) @fﬁb@)o&?

¢

Options :

H,(g) — 2H(g)

H, (o°) > 2H (o)

Liquid water crystallizes to ice

D50 H00e5D0D S0P S8 KO

<

~

T
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Temperature of ice 1s raised from 10 K to 115K

5058 &YB 10 K So& 115 K DS .

2NaHCO; (s) — Na,CO, (s) + CO, (g) + H,0(s)

2NaHCO, (£0) — Na,CO, () + CO, (o) + H,0 (%)

Question Number : 132 Question Id : 7196501252 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

For a given equilibrium reaction, addition of mert argon gas at constant volume can

shift the equilibrium

N,

(g) +3H,(g) = 2NH, (g)

8088 Radgeutens B3IEY WT5H, DG DUIDOBTTEI0 o5 BT°R 2366 TR FONS VPP
dE0 g3) 2300

N:

Options :

3.¢

(w°) + 3H, (o°) = 2NH, (<°)

Forward direction

DGR HFS’

Backward direction

AT OIS

Remain unaffected

S780 DKo Sothodd
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mitially forward and then backward direction

056y O'TPED S5 2300 ST SETPED $Gs

Question Number : 133 Question Id : 7196501253 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
For the given equilibrium reaction
H, (9) +1, (g) == 2HI(9)

Choose the correct equation to calculate K.

R)® DS K303
H, (o) + 1, (o°) —— 2HI (o®) %

K, Q 88056208 005 0a08Gei0-D 00e30) 87 Sdas0

Options :
K,=K,
1. ¢
K =K, (RT)
K=K, (mr]®
3. 8
K, =K (RT)
4 B

Question Number : 134 Question Id : 7196501254 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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When calcium carbide 1s reacted with heavy water, which of the following product(s)

will be formed?
P00 FONE TS 8005 SG3 oI §obd 0 G YT°) L0 XY,

i) CDs (i) CaD» (iii)  Ca(OD) (iv) CarD:20

Options :
(i) and (iv) only
(1) a00adw (1v) a”fﬂ“é&:

(11) and (i11) only
(if) «0OCSw (iil) oS

2. ¢

(1). (i) and (iii) only

(i). (i) <00%0 (iii) S

3. %

(1). (11). (ii1) and (1v)

(1). (i1). (i11) LSOOO3W (1v)
4. %

Question Number : 135 Question Id : 7196501255 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which alkali metal emits blue color light in flame test?

U DOXES” ) TG S50 IO Gotfd 0B GEPESD DOD.

Options :

Cs

~

T
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2. %

Na
3.8

K
4. %

Question Number : 136 Question Id : 7196501256 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Match the following
LIST I (compounds)

A) Boron-10

B) Borax

C) Boron-Fibre

D) Orthoboric acid
S0l TPAQ BADBIIW.

SGQ - I (Dadoy Forew)

A) eSor0 -10

B) e,S“oﬁéh

C) 2Sorm T8 Feoen

D) ©87250% essdo

The correct match 1s

OGS W

LIST II (uses)
I) Antiseptic
IT) Bullet proof vest
III)  Neutron absorber

IV)  Heat resistance glasses

36% - II (&HTFPew)

) ol3DPE

D)  ars Mootk AE'WE SF9en
M)  Srgled T

IV)  &Q Q08 resen

gcollegedunias
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Options :

A B D
I / II IT1
1. ®
A B D
I I II IV
7 B
A B & D
I11 IV II I
3.¢
A B C D
I1I I II IV
4, %

Question Number : 137 Question Id : 7196501257 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Glass reacts with HF to produce

res HE & WOZ20NID YW bdﬁafi &GO\ 0

Options :

SiF4
1. ¢

Na>S10;
2.8

gcollegedunias
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H>S103

Silicones

OSSP

4 ®

Question Number : 138 Question Id : 7196501258 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following molecules react with hemoglobin of the blood to produce toxic

effect?

EEoS'R ErSrTRR §o& o) @ewad) /Do ¢8° 585 BOASIY Y I DeTSod) SFKIE

S’

Options :
Carbon monoxide
520 SPTSN e
1.
Carbon dioxide
500 GUS\G
2 8
Oxygen
S
3 8
Nitrogen
35S
4, %

Question Number : 139 Question 1d : 7196501259 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
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Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

The TUPAC name of the following compound i1s

& 800 1) ¥eSo I, TUPAC o500

OH

Options :

3. 3 — Dimethylcyclohex — 1 —en—5 — ol

3,3 - GRS PETEy— 1 — &S - 5485

L%
4. 4 — Dimethylcyclohex — 1 —en—2 —ol
4,4 — GRS PErSy — 1 -G -2 -85

2. ®
3, 3 — Dmmethylcyclohex — 5 —en—1 — ol
3,3 - GaRO PErsy — 5 — S0~ 1 - 4O

5%

5, 5 — Dimethylcyclohex — 2 —en—1 — ol
5,5 - GRS PFISy —2 — S — 1 - &5
4.9

Question Number : 140 Question Id : 7196501260 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

collegedunia:s

India’s largest Student Review Platform

~

T




When CH3Br and C,HsBr are subjected to Wurtz reaction, the maximum number of

possible alkane product(s) formed 1s/are

CH3Br 50050 C2HsBr en aéeg ».2')(55656 i)“g?i}l@gdb 56‘@0{? GD&.DJ O P) t’;‘iﬁj&ﬁ

S YT*) €0 DS YEID.
Options :
1
1. ®
2
2. %
3
3.¢
4
4. %

Question Number : 141 Question Id : 7196501261 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Maximum number of bromine atoms present in the final product P upon complete

bromunation are

SO0 g§° AR WOIN) QJ&J @o@g eeﬁoyé )0 P, r“i@@ ?i'.Josa)gt’S‘ g§’ R 0GeSTPERR)EN ol)&'}g,
EoCIPON

Br
&) J*O5
(i} alc. KOH, A

(11) Br, (excess) / CCl,
(85)

N
e

Br CH;

~

T
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Options :

4
1. %
6
2, %
10
3 8
3
4,

Question Number : 142 Question Id : 7196501262 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

A cubic structure 1s formed where atoms of element X are occupied at corner of cube
and also at face centers. Atoms of element Y are present at body center and at the edge
centers. If all the atoms are removed along a plane passing through the middle of the

cube (bisecting the four edges). the formula will become

X' 93 Srof HOS7) w8 o GRS PO 200K DOF SoiPLS @00 P W
s SOEYD DENGSD. Y arede G, HSSTENDHLD Woth: S0l HOAKL @otdy Sol
PO DTN BT ON. IS0 adidg K005 (FTPL) oD DM WS WOKD)
JFO5), %8 B0 ot DVSTEDHLD 5" VRIS TP Jegho (FSoyer)

Options :
XY>
.8
X4Y3
2.3

~

T
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XY
3.

X2Y3

Question Number : 143 Question Id : 7196501263 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

pH of 0.05M aqueous solution of diethyl amine 1s 10. The value of equilibrium

constant 1s

0.05M & 336 o 230 1756 pH 10 290008 0SSP0 DT80 s

Options :

4x107
1%

2x107
2.

2x107
3. %

4%x107
4. 8

Question Number : 144 Question Id : 7196501264 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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The observed molar mass determined for Na>SO4 by freezing point depression method

1s 50.0 g/mol. The molecular weight of Na;SOj4 1s 142. What will be the degree of

dissociation « for Na>SO4 in water?

D0DRISS PeS V) & w°30° NaxSO4 S50 S8 oG arerd $3s530°8 50.0 g/mol. NaySO4
B8, wew g°8o 142. AEIS" NaSO4 GinE), HATree 9856 o, 0doS?

Options :
0.23
. %
0.18
2. %
0.78
3. %
0.92
4.

Question Number : 145 Question Id : 7196501265 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

~

T
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Copper is to be electrodeposited on a Nickel block of (20 x 5) cm” area by using CuSO4
as electrolyte. How much quantity of electricity is needed to deposit a 3.6 um layer of
copper?

Atomic weight of Cu = 63.5 g mol™

Density of CuSO4 = 8.9 g/cc

CuSO4 DO 90E (23S D3380) D &DCAIPNEW (20 X 5) cm® JPwge (L I3S B0y S
00 D220 ®AWgIR. 3.6 pm 00 FS VEDo WAIEPVS Wo DS DOEIE0 WS ?
Cu HSSre 28 = 63.5 g mol™

CuSO4 ¥l = 8.9 g/cc

Options :
974 Coulombs
074 3rearrod eV
1.v
580 Coulombs
580 3, e
7 8
1080 Coulombs
1080 ¥reorozy en
3. %
365 Coulombs
365 Ererod e
4, ®

Question Number : 146 Question Id : 7196501266 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

~

T
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The half-life of a first order reaction varies with temperature according to

0S8 ES 505 CIVE), ©T0H0Y), GBS 0 DBorP STB0B.

Options :

1
In (ty,) c—
i (t) o =

. ¢
In (Il_ﬂ) « T
2.8
1
tyr ) £ =
(1) =
3. %
(ty2) = T°
4.%

Question Number : 147 Question Id : 7196501267 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The charge of “SnO»>—sol” m alkaline and acidic medium are respectively

(Hint: SnO, 1s amphoteric oxide)

6 0050 B AP “Sn0r—FES 7 DgTRIo SEOP
(RoeSS: SnO, a8 OIVIEPS &S\G)
Options :

Positive and Positive

&S 00080 B

collegedunia:s
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Negative and Negative

2O0E3 o000 200063

2. %
Positive and Negative
&S 00050 2ues
3. ®
Negative and Positive
2OES 200080 &S
4.9

Question Number : 148 Question Id : 7196501268 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which one of the following statements 1s true about the froth flotation method?
255 VSN D33 K520y Sol OB ardSoS O STeIN'AS
Options :

Ores possessing magnetic properties can be concentrated i this process

B8 DB WOHF), 08 G0 (O S0G WUEPL Fod¥tEr0 BEOBB.

. ®
The muneral particles become wet by water
W23 e Deded” GG VTN
2. %
The mineral particles become wet by oil
D2 FEPL) SPIeS” BETP aHTP0W
3.

~

T
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It 1s not possible to separate a mixture of two sulphide ores by adjusting
proportion of oil to water

A, SPI ARQYBV DOBONe SO Told VGG S& PULFL WISV, S
ROV AW

Question Number : 149 Question Id : 7196501269 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

When cold and dilute NaOH reacts with Cl,, which of the following 1s formed?

500 S0, DS NaOH ¢5° 383 220035160, 508 o) 69335 0 05 16e006?

Options :

NaOCl1

NaClO,

!Z\J
*':

NaClo,

&

NaClo,

Question Number : 150 Question Id : 7196501270 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The hybridization of Xe m XeOs 1s

XeO; &5 Xe QA% Vo8OEGE

Options :

collegedunia:s
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sp>

1.

sp>d
2. %

sp°d?
3 ®

dsp’
4. %

Question Number : 151 Question Id : 7196501271 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following 1s a diamagnetic 1on?

8o TPES" OSIPI00W) oh OALTS IE?

Options :

g 18
Co-
1. b
o N
Cu-
g 8
Mn~
3. 8
S
4.9

Question Number : 152 Question Id : 7196501272 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Among the followmg Cr(III) complexes. which one will have the highest octahedral
crystal field splitting?

8005 3532065 Cr(IIL) Db TTOL, &) D TISNK SBHE GFIrES 008 & DasesS

&olol?

Options :

[CrE,]”
], ®

[Cr(H,0),]"
% ®

[Cr(NH3)6]**
3.9

. 3—

[Cr(CN),]

4.

Question Number : 153 Question Id : 7196501273 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Which one among the following 1s a semi-synthetic polymer?
&8 800 TS 2B ©F — ¥YB3( DR-20tEIE) FOSE

Options :

Cellulose acetate

Re0geeS DI

1. v

gcollegedunias
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Starch

o)
2. %
Rubber
8eo0
3., %
Nylon 6. 6
S 6, 6
4 %

Question Number : 154 Question Id : 7196501274 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Considering the facts that

(1) sucrose forms glycosidic linkage between C; of glucose and C; of fructose, while
(11) lactose forms glycosidic linkage between C; of galactose and C4 of glucose

Choose the correct statement.

800 DRODSNOZ HOSEBQ
(1) 2088 & DSDES adotSo GrS'eE - C1 %0 H0050 PEE - C2 05 W80,
(ii) °§'25 &° PSRES 200t TPOFEE - C1 80 SH00%0 GP8'eS - Ca 085 o8 )CB060
OGS DB ) &0

Options :

Both sucrose and lactose are reducing sugars

08728 SH00K0 €eE 2 Doty £0DEGE %) Sen

~

T
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]

Both sucrose and lactose are non-reducing sugars

0§ 00K €PEeE Dotk XOKESE (S0P GO B3 Be

Sucrose 1s reducing sugar and lactose 1s non-reducing sugar

S LODESEs 38y, 8 00K €°§'eE KOHESE B8y0 SO I8y

*

Lactose 1s reducing sugar and sucrose 1s non-reducing sugar

eSS KONESE 38y, 8 000 LSS KoSESE GG 0 B0 I8y 0

4.

Question Number : 155 Question Id : 7196501275 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Match the following

List-I
A) Codeine
B) Dettol
C) Tetracycline

S0 PR BDHSISD
360 -1
A) §GQ
B) Gé&rS

C) EHPR8S

The correct match 1s

200G BB

Options :

List-II
I) Antiseptic
II) Antibiotic

III) Narcotic analgesics

S6% -1I
I) OSmotd RPE (D HEEe)
1) O$°old Lacires§
M) SO AP0 SIEEST L0
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I II 11
1. &
A B e
II III I
7 B
A B £
III I 11
3.9
A B e
11 IT I
4. %

Question Number : 156 Question Id : 7196501276 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

The major product in the following reaction sequence 1s

&5 8o SFPADHS I8¢5 BHE Ireed & NG GBS 0 B

INHa %845

(1) (CH5CO),0 , Pyridine
>

(1) Br; , CH;CO,H
(111) NaOH (aq)(ze)
(1v) HNO,

(v) CuCl/HCl1

Options :

gcollegeduniaa
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5

NH,
Br

Cl
Br

], ®

2
; 1
Br

3.8
i |

i . Br
4 %

Question Number : 157 Question Id : 7196501277 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Match the following

Reaction
A)Ketone + NaBH,
B) Ester + LiAlH,

C) RMgX + Ketone

SIARVIVIE- VIV e VRNV
SFPONS 8y
A) 8¢&' + NaBH,
B) 206 + LiAlH,
C) RMgX + 888

The correct match 1s

DOAS 2365
Options :
A B
111 IV
1, %
A B
111 I
2. ¢
A B
I IV
3. %

Product
I) 1° —alcohol

IT) 3° —alcohol

IIT) 2° —alcohol
IV) alkane

&OJ) 0
D) 1I° w0 *S
II) 3° - @S
III) 2° - ey S
IV) &5, 0

gcollegedunias
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Question Number : 158 Question Id : 7196501278 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The reaction of one mole of 3-ethyl-3-methylpenta-1. 4-diene with O3 and then with

Zn/H>O0, gives

o IPE5 3-5DES -3- WBES ol -1, 4-GES, 03 G, SB5e8° S SH00% BT Zn/Ha0

& 383 20D D YESD

Options :

2 moles of HCHO and 1 mole of
2 Sredey HCHO 50050 1 3¢S

(Ijzﬂs
IhC—?-CHO

CH,

1 mole of CH3CHO. 1 mole of HCHO and 1 mole of

1 3»eS CH3CHO, 1 3¢ HCHO 5005w 1 35S

s
H—CIT —LCHO

C,Hs

12
5

2 moles of CH3CHO and 1 mole of
2 SreSey CH3CHO 50050 1 Sred
(1321'15
OHC—(I: —CHO
CH,3
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T



2 moles of HCHO and 1 mole of
2 SreSe HCHO 0050 1 3w

(FIHE
OHC—-C—CHO
CH,
4.9

Question Number : 159 Question Id : 7196501279 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following reactions gives carboxylate 1on in their reaction mixture?

81 80 IBUES’, B 505 F0ES” TP SES OKPS 2B\

CO, HC]
(i) >
anhyd. A1C1;/CuCl

EB:U“Lg

+
) 2[Ag(NH;),]
(i) CH,CHO >
“OH

'HO _
N cu’'/ ToH
(111) >

Ha G)cl1, / hy

(iv) 3 >
(ii)) H,0,373K

Options :

gcollegedunias
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(1) and (11)
(1) 0005 (1)

1. #

(1) and (111)

(11) 000w (111)
2. ¢

(1) and (111)

(1) 300050 (111)
3.

(111) and (1v)

(111) 00050 (1v)
4 R

Question Number : 160 Question Id : 7196501280 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The product formed when aniline is treated with chloroform in the presence of KOH

(alcoholic) 1s

@0 SFOE KOH 05050 IOS, §'6'3Poes® (505 oSk i D813 6833y, Do

Options :
Phenol
DS

1. %

Phenyl 1sothiocyanate

OIS DFSAIPLONIE

gcollegeduniaa

T



Phenyl isocyanide

D3O DTOONIG
3. ¢
Cyanobenzene
0058830280
4.8
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